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INTERMEDIATE EXAMINATION – 2021 (ANNUAL) 

Model Set 

I. A. 

Economics (OPT)

dqy iz’uksa dh la[;k & 100 $ 30 $ 8 ¾ 138

Total No. of questions – 100 + 30 + 8 = 138 
 

Instructions for the candidates :- 

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

2- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- mÙkj nsrs le; ijh{kkFkhZ ;FkklaHko ’kCn&lhek dk /;ku j[ksaA 

While answering questions, candidate should adhere to the word 

limit as far as practicable. 

4- bl iz’u i= dks /;kuiwoZd i<+us ds fy, 15 feuV dk vfrfjDr le; fn;k 

x;k gSA 

15 minutes of extra time has been allotted for the candidate to 

read the questions carefully. 

5- bl iz’u&i= ds nks [k.M gSa %  ,oa  

Time :- 3 Hours 15 minutes 
le; % 3 ?kaVs 15 feuV 

Full Mark - 100 
iw.kkZad & 100 

326 
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This question paper has two sections : Section-A and Section-B. 

6- [k.M&v esa 100 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 50 iz’uksa ds mÙkj nsuk 

vfuok;Z gS ¼izR;sd iz’u ds fy, 1 vad fu/kkZfjr gS½A 50 iz’uksa ls vf/kd ds 

mÙkj fn;s tkus dh fLFkfr esa izFke 50 mÙkjksa dk gh ewY;kadu fd;k tk;sxkA 

oLrqfu"B iz’uksa ds lgh mÙkj dks miyC/k djk;s x;s OMR& 'khV ¼mÙkj i=d½ 

esa fn;s x;s lgh òÙk esa dkys@uhys ckWy isu ls vafdr djsaA fdlh Hkh izdkj ds 

OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk OMR ’khV esa iz;ksx djuk euk 

gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section-A, there are 100 objective type questions out of which 

it is compulsory to answer any 50 questions (each carrying 1 

mark). If more than 50 questions are answered, the first 50 

answers will be evaluated. Darken the appropriate circle for correct 

answer of objective questions with black/blue ball pen on OMR 

Answer Sheet provided to you. Do not use 

Whitener/Liquid/Blade/Nail on OMR Sheet, otherwise the result will 

be invalid. 

7-  esa   gSa] ¼izR;sd ds fy, 2 vad fu/kkZfjr gS½ ftuesa 

ls fdUgha 15 iz’uksa ds mÙkj nsuk vfuok;Z gSA blds vfrfjDr [k.M&c esa  

 Hkh fn, x, gSa ¼izR;sd iz’u ds fy, 5 vad fu/kkZfjr gSa½] 

ftuesa ls fdUgha 4 iz’uksa ds mÙkj nsuk vfuok;Z gSA  
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In Section-B, there are 30 Short answer type questions (each 

carrying 2 marks), out of which any 15 questions are to be 

answered. Apart from this, there are 8 Long answer type 

questions, (each carrying 5 marks), out-of which any 4 questions 

are to be answered.  

8- fdlh rjg ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 

Section – A 

Objective Type Questions 

iz'u la[;k 1 ls 100 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls 

,d fodYi lgh gSA vius }kjk pqus x;s lgh fodYi dks OMR&’khV ij fpfUgr djsaA 

fdUgha 50 iz’uksa dk mÙkj nsaA 50 iz’uksa ls vf/kd ds mÙkj fn, tkus dh fLFkfr esa izFke 50 

mÙkjksa dk gh ewY;kadu fd;k tk,xkA      (50x1=50) 

Question Nos. 1 to 100 have four options, out of which only one is 

correct. You have to mark, your selected option, on the given OMR-Sheet. 

Answer any 50 questions. If more than 50 questions are answered, the first 

50 answers will be evaluated.      (50x1=50) 

1- vFkZO;oLFkk dks oxhZd`r fd;k tk ldrk gS& 

A- iw¡thoknh vFkZO;oLFkk esa   B- lektoknh vFkZO;oLFkk esa 

C- fefJr vFkZO;oLFkk esa   D- buesa ls lHkh 

Economy may be classified as- 
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A. Capitalist Economy    B. Socialist  Economy 

C. Mixed Economy   D. All of these 

2- ^^vFkZ’kkL= p;u dk rdZ’kkL= gSA** fdlus dgk\ 

A- fgDl     B- dhUl   

C- jkWfcUl     D- ek’kZy 

Who said “Economics is the Logic of choice” ? 

A. Hicks     B.Keynes 

C. Robbins     D. Marshal 

3- ml oØ dk uke crk,¡ tks fdlh ns’k dh vkfFkZd leL;k n’kkZrk gS& 

A- ykxr oØ     B- ek¡x oØ 

C- mnklhurk oØ    D- mRiknu laHkkouk oØ 

Mention the name of the curve which shows economic problem of 

a country. 

A. Cost Curve     

B. Demand Curve 

C. Indifference Curve    

D. Production Possibility Curve 

4- miHkksDrk O;ogkj dk v/;;u fd;k tkrk gS & 

A- lw{e vFkZ’kkL= esa    B- O;kid vFkZ’kkL= esa  

C- vk; fl)kUr esa    D- buesa ls dksbZ ugha 

Consumer Behaviour is studied in- 
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A. Micro Economics   B. Macro Economics 

C. Income Theory    D. None of these 

5- ,slh oLrq,¡ ftudk ,d nwljs ds cnys iz;ksx fd;k tkrk gS] dgykrk gS& 

A- iwjd oLrq,¡     B- LFkkukiUu oLrq,¡ 

C- vkjkenk;d oLrq,¡    D- buesa ls dksbZ ugha 

Goods which can alternatively be used for each other are called- 

A. Complementary goods  B. Substitute goods 

C. Comfort goods    D. None of these 

6- fxfQu oLrqvksa ds fy, dher ekax dh yksp gksrh gS& 

A- _.kkRed     B- /kukRed  

C- ’kwU;      D- buesa ls dksbZ ugha 

For Giffen goods price elasticity of demand is- 

A. Negative     B. Positive 

C. Zero     D. None of these 

7- vYidkyhu mRiknu Qyu fuEu esa ls dkSu lacaf/kr gS\ 

A- ekax dk fu;e    B- ifjoÙkZu’khy vuqikrksa dk fu;e  

C- iSekus ds izfrQy dk fu;e  D- ekax dh yksp 

Which of the following is related Short –Run Production Function? 

A- Law of Demand        

B- Law of Variable Proportions  
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C- Law of Returns to scale     

D- Elasticity of Demand 

8- fuEufyf[kr esa ls dkSu fLFkj ykxr ugha gSa\ 

A- chesa dk izhfe;e    B- C;kt  

C- dPps eky dh ykxr   D- QSDVªh dk fdjk;k 

Which of the following is not fixed cost? 

A. Insurance  Premium   B. Interest 

C. Cost or Raw Material   D. Rent of the factory 

9- ^ekbØkst^ ’kCn gS & 

A- vjch      B- xzhd 

C- teZu      D- vaxzsth 

‘Micros’ word is - 

A. Arabic     B. Greek 

C. German     D. English 

10- vFkZ’kkL= dh dsUnzh; leL;k,¡ dkSu lh gS\ 

A. lk/kuksa dk vkcaVu    B- lk/kuksa dk dq’kyre mi;ksx 

C- vkfFkZd fodkl    D- mi;qZDr LkHkh 

Which is the central problem of an economy? 

A. Allocation of Resources   
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B. Optimum Utilisation of Resources 

C. Economic Development   

D. All the above 

11- mi;ksfxrk dk ^x.kuokpd fl)kUr* fdlus izLrqr fd;k\ 

A- ek’kZy     B- ihxw 

C- fgDl     D- lSE;wylu 

Who gave the ‘cardinal concept’ of utility? 

A. Marshall     B. Pigou 

C. Hicks     D. Samuelson 

12- dkWQh ds ewY; esa o`f) gksus ls pk; dh ekax& 

A- c<+rh gSaA     B- ?kVrh gSaA 

C- fLFkj jgrh gSaA    D- buesa ls dksbZ ughaA 

With the rise in coffee price, the demand for tea- 

A. Rises     B. Falls 

C. Remains stable    D. None of these 

 

13- vko’;d oLrqvksa ds ekax dh yksp gksrh gS & 

A- ’kwU;     B- vlhfer  
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C- bdkbZ ls vf/kd    D- bdkbZ ls de 

Elasticity of demand for Necessities is- 

A. Zero     B. Unlimited 

C. Greater than unity   D. Less than unity 

14- ifjoÙkZu’khy vuqikrksa ds fu;e ds izFke pj.k esa& 

A. lhekUr vkSj vkSlr mRiknu nksuksa c<+rk gSA   

B- lhekUr mRiknu c<+rk gSA 

C. vkSlr mRiknu fxjrk gSA    

D- lhekar mRiknu ’kwU; gksrk gSA 

In the first stage of Law of Variable Proportions - 

A. Both Marginal Product and Average Product rise   

B. Marginal Product rises 

C. Average Product falls 

D. Marginal Product is zero 

15- mRiknu esa òf) ds lkFk&lkFk dqy ykxr ,ao dqy fLFkj ykxr dk vUrj& 

A- fLFkj jgrk gSA    B- c<+rk gSA 

C- ?kVrk gSA     D- ?kVrk&c<+rk jgrk gSA 
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With the increase in production the difference between Total Cost 

and Total Fixed Cost - 

A. Remains constant    

B. Increases 

C. Decreases     

D. Both increases and decreases 

16- fuEufyf[kr esa fdl cktkj n’kk esa lhekUr vkxe ’kwU; vFkok _.kkRed gks 

ldrk gS\ 

A- ,dkf/kdkj     B- ,dkf/kdkjh izfr;ksfxrk 

C- A vkSj B nksuksa    D- iw.kZ izfr;ksfxrk 

In which market Marginal Revenue may become Zero or 

Negative? 

A. Monopoly     B. Monopolistic Competition 

C. Both A and B    D. Perfect Competition 

17- mRiknu larqyu dh fuEufyf[kr esa dkSu lh jhfr;k¡ gSa\ 

A. dqy vkxe vkSj dqy ykxr jhfr   

B- lhekUr vkxe vkSj lhekUr ykxr jhfr 

C. A vkSj B nksuksa  
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D- buesa ls dksbZ ugha 

Which of the following is a method of Producer’s Equilibrium? 

A. Total Revenue and Total Cost method   

B. Marginal Revenue and Marginal Cost method  

C. Both A and B  

D. None of these 

18- fdl cktkj esa vkSlr vkxe oØ X-v{k ds lekukUrj gksrk gS\ 

A- iw.kZ izfr;ksfxrk    B- ,dkf/kdkj 

C- ,dkf/kdkjh izfr;ksfxrk   D- buesa ls lHkh 

In which market Average Revenue curve is parallel to x-axis? 

A. Perfect Competition   B. Monopoly 

C. Monopolistic Competition  D. All of these 

19- iwfrZ dh deh dk dkj.k gSa & 

A- mRiknu ykxr esa o`f)    

B- LFkkukiUu oLrqvksa dh dherksa esa deh 

B. m|ksxksa esa QeksZ dh la[;k esa deh    

D- buesa ls lHkh 

The reason of decrease in supply is- 
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A. Increase in production cost 

B. Decrease in price of substitutes 

C. Decrease in the number of firms in the industry   

        D. All of the above 

20- fuEufyf[kr esa ls dkSu&lk dFku lgh gS\ 

A. oLrq dh dher ,ao mldh iwfrZ ds chp lh/kk lEcU/k gksrk gSA  

B- iwfrZ oØ ck;sa ls nk;sa Åij dh vksj mBrk gSA 

C- iwfrZ dks vusd rRo izHkkfor djrs gSaA 

D- buesa ls lHkh 

Which of the following statement is true? 

A. There is direct relationship between price of a commodity and 

its supply.   

B. Supply curve rises from left to right. 

C. Supply is affected by many factors 

D. All of these 

21- tc dher esa FkksM+k lk ifjorZu gksus ij iwfrZ esa T;knk o`f) gks tk;s rks iwfrZ dk 

Lo:Ik gksxk& 

A- ykspnkj     B- csykspnkj 
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C- iw.kZ ykspnkj     D- iw.kZ csykspnkj 

When supply increases more as a result of small increase in price, 

the nature of supply will be- 

A. Elastic     B. Inelastic 

C. Perfectly Elastic   D. Perfectly Inelastic 

22- Ckktkj fLFkfr ftlesa oLrq dk dsoy ,d Øsrk gksrk gS& 

A- ,dkf/kdkj     B- eksuksIlksuh 

C- };kf/kdkj     D- buesa ls dksbZ ugha 

Market situation where there is only one buyer - 

A. Monopoly     B. Monopsony 

C. Duopoly     D. None of these 

23- ,dkf/kdkj cktkj fdls n’kkZrk gS\ 

A- mRiknu izfØ;k    B- forj.k iz.kkyh 

C- cktkj izdf̀r    D- bues ls dksb ugha 

What does monopoly market show? 

A. Production process   B. Distribution system 

C. Nature of market   D. None of these 

24- dher fu/kkZj.k izfØ;k esa ^le; rRo^ dk fopkj fdlus izLrqr fd;k\ 

A- fjdkMksZ     B- okyjl 
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C- ek’kZy     D- ts ds esgrk 

Who gave the concept of ‘Time Element’ in price determination 

process? 

A. Ricardo     B. Walras 

C. Marshall     D. J K mehta 

25- fuEu esa ls dkSu ,dkf/kdkj QeZ ds larqyu dh ’krZ ugha gS \ 

A. vkSlr vkxe = lhekUr ykxr   

B- lhekar vkxe = lhekUr ykxr  

C. lhekUr ykxr oØ lhekUr vkxe oØ dks uhps ls dkVrh gSA  

D- B vkSj C nksuksa 

Which is not a condition for equilibrium of a Monopoly firm? 

A. Average Revenue= Marginal cost    

B. Marginal Revenue = Marginal cost 

C. Marginal Cost curve cuts Marginal Revenue curve from below  

D. Both B and C 

26- iw.kZ izfr;ksfxrk esa QeZ & 

A- dher dks fu/kkZfjr djrh gSA  B- dher dks Lohdkj djrh gSA  

C- A vkSj B nksuksa    D- buesa ls dksbZ ugha 
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In Perfect Competition, a firm- 

A. Determines price    B. Accepts price  

C. Both A and B    D. None of these 

27- Lkk/ku dher fu/kkZj.k ds fuEu esa dkSu ls ?kVd gSa\ 

A- yxku     B- etnwjh 

C- C;kt      D- buesa ls lHkh 

Which of the following is component of factor price determination? 

A. Rent     B. Wage 

C. Interest     D. All of these 

28- d`f"k mRiknksa ds fy, ^U;wure leFkZu ewY;* fUkEu esa ls dkSu gS\ 

A- dher fuEure lhek   B- dher mPpre lhek 

C- A vkSj B nksuksa      D- buesa ls dksbZ ugha 

For agricultural product which of the following is ‘Minimum Support 

Price’ ? 

A. Price Floor Limit   B. Price Ceiling Limit 

C. Both A and B    D. None of these 

29- volj ykxr dk oSdfYid uke gS& 

A- vkfFkZd ykxr    B- larqyu ewY; 

C- lhekUr ykxr    D- vkSlr ykxr 
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The alternative name of Opportunity cost is - 

A. Economic cost    B. Equilibrium price 

C. Marginal cost    D. Average cost 

30- vYidkyhu mRiknu dh n’kk esa ,d foosd’khy mRiknd fdl voLFkk esa 

mRiknu djuk ilUn djsxk\ 

A- izFke voLFkk    B- f}rh; voLFkk 

 C- rr̀h; voLFkk    D- buesa ls dksbZ ugha 

In which stage of production a rational producer likes to operate in 

short-run production? 

A. First stage    B. Second stage 

C. Third stage    D. None of these 

31- ^O;kid vFkZ’kkL=^ dh fuEufyf[kr esa ls dkSu lh mi;ksfxrk gS\ 

A- ljdkjh vkfFkZd uhfr dk fuekZ.k  B- vkfFkZd fodkl 

C- vUrjkZ"Vªh; rqyuk,¡    D- buesa ls lHkh 

Which one of the following is the utility of ‘Macro Economics’? 

A. Formation of Government Economic Policy   

B. Economic growth 

C. International comparisons   

D. All of these 
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32- ^pØh; izokg^ ds vUrxZr fuEufyf[kr esa dkSu ’kkfey gS\ 

A- okLrfod izokg    B- ekSfnzd izokg 

C- A vkSj B nksuksa    D- buesa ls dksbZ ugha 

Which of the following is included in Circular Flow? 

A. Real Flow     B. Money Flow 

C. Both A and B    D. None of these 

33- ,d ys[kk o"kZ esa fdlh ns’k dh ?kjsyw lhek esa lHkh mRikndksa }kjk ftruh vafre 

oLrqvksa vkSj lsokvksa dk mRiknu gksrk gS] mudh cktkj dher ds ;ksx dks dgk 

tkrk gs& 

A- GDPMP     B- GNPMP  

C- NNPMP     D- buesa ls dksbZ ugha 

The market price of all final goods and services produced in the 

domestic territory of a country in a year is known as- 

A. GDPMP     B- GNPMP  

C- NNPMP     D. None of these 

34- ykHk ds fuEufyf[kr esa dkSu ls ?kVd gSa\ 

A- ykHkka’k     B- vfrfjDr ykHk  

C- fuxe ykHk dj    D- mi;qZDr lHkh 

Which of the following is a component of Profit? 

A. Dividend     B. Undistributed Profit 
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C. Corporate profit tax   D. All the above 

35- og {ks= tks ,d oLrq dks nwljh esa ifjofrZr djrk gS] dgykrk gS & 

A- izkFkfed {ks=    B- f}rh;d {ks= 

C- r`rh;d {ks=     D- buesa ls dksbZ ugha 

The sector which transforms one good into another is known as - 

A- Primary sector    B- Secondary sector 

C- Tertiary sector    D- None of these 

36- fuEu esa lss dkSu lgh gSa\ 

A- iz;ksT; vk; = O;fDrxr vk; - izR;{k dj    

B- iz;ksT; vk; = futh vk; - izR;{k dj  

C- iz;ksT; vk; = O;fDrxr vk; - vizR;{k dj     

D- iz;ksT; vk; = futh vk; - vizR;{k dj  

Which of the following is correct? 

A. Disposable Income=Personal Income-Direct Taxes   

B. Disposable Income=Private Income-direct Taxes  

C. Disposable Income=Personal Income-Indirect Taxes  

D.  Disposable Income=Private Income-Indirect Taxes  

37- iwath ds LVkWd dh òf) dgykrh gS & 
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A- iwath âkl     B- iwath ykHk 

C- iwath fuekZ.k     D- buesa ls dksbZ ugha 

Increase in stock of capital is known as - 

A. Capital loss    B. Capital gain 

C. Capital formation   D. None of these 

38- f}rh;d {ks= essa dkSu&lh lsok,¡ lfEefyr gSa \ 

A- chek      B- cSafdx 

C O;kikj      D- fofuekZ.k 

Which of the following is included in Secondary sector? 

A Insurance     B. Banking 

C. Trade     D. Manufacturing 

39- GNP voLQhrd = 

A.                         X 100   B.                    x 100 

C-  A vkSj B nksuksa    D- buessaa ls dksbZ ugha 

GNP Deflator = 

A.              X 100   B.                     x 100 

C- Both A and B    D- None of these 

40- eqnzk ds LFkSfrd vkSj xR;kRed dk;ksZa a dk foHkktu fdlus fd;k\ 

A.  jSxuj fQz’k     B-  ikWy ,saftx 

udn GNP 
okLrfod GNP 

udn GNP  
okLrfod GDP 

Nominal GNP 
Real GNP 

Nominal GNP 
Real GDP 
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C- ek’kZy     D- buesa ls dksbZ ugha 

Who classified Static and Dynamic functions of Money? 

A- Ragnar Frisch    B- Paul Einzig 

C- Marshall     D- None of these 

41-  izd`fr ds vk/kkj ij eqnzk dk oxhZdj.k gS& 

A- fof/kxzkg~; eqnzk vkSj ,sfPNd eqnzk  B- okLrfod eqnzk vkSj fglkch eqnzk 

C- /kkrq eqnzk vkSj izrhd eqnzk  D- buesa ls dksbZ ugha  

On the basis of nature Money is classified as - 

A. Legal Tender Money and Optional Money 

       B. Actual Money and Money of Account 

C. Metallic Money and Token Money   

D. None of these 

42- ysu&nsu ds fy, eqnzk dh ekax gksrh gS & 

A. C;kt ds izfr ykspnkj     

B- C;kt ds izfr csykspnkj 

C. A vkSj B nksuksa    

D- buesa ls dksbZ ugha 
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Demand for Money for Transaction motive is- 

A. Interest Elastic    B. Interest Inelastic 

C. Both A and B    D. None of these 

43- Tkurk dk cSd dkSu gS\ 

A- O;kikfjd cSad    B- dsUnzh; cSad 

C- nksuksa A vkSj B    D- buesa ls dksbZ ugha 

Which is Bank of the public? 

A. Commercial Bank   B. Central Bank 

C.  Both A and B    D. None of these 

44- O;kikfjd cSad fuEufyf[kr esa fdl izdkj ds _.k nsrs gSa\ 

A- udn lk[k     B- vf/kfod"kZ 

C- _.k ,ao vfxze      D- buesa ls lHkh 

What type of loan is advanced by Commercial Bank ? 

A. Cash credit    B. Overdraft 

C. Loans and Advances   D. All of these 

45- cSad nj esa òf) lwpd gSa& 

A. lLrh eqnzk uhfr    B- egaxh eqnzk uhfr 

C- lk[k dk foLrkj    D- B vkSj C nksuksa 
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Increase in Bank Rate indicates- 

A. Cheap Money Policy   B- Dear Money Policy  

C- Expansion of Credit   D- Both B and C 

46- dsUnzh; cSad _.k dh miyC/krk dks c<+k ldrk gS& 

A- iquZ[kjhn nj c<+kdj   B- izfr iqUkZ[kjhn c<+kdj 

C- ljdkjh izfrHkwwfr;k¡ [kjhn dj  D- ljdkjh izfrHkwfr;k¡ cspdj  

The Central Bank can  increase availability of credit by- 

A. Raising Repo Rate     

B. Raising Reverse Repo Rate 

C. Buying Government Securities     

D. Selling Government Securities 

47- fuos'k ds fu/kkZjd ?kVd dkSu ls gSa\ 

A- i¡wth dh lhekUr {kerk   B- C;kt dh nj 

C- nksuksa A vkSj B    D- buesa ls dksbZ ugha 

What is the determining factor for investment? 

A. Marginal Efficiency of capital B. Interest Rate 

C. Both A and B    D. None of these 
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48- dhfUl;u fopkj/kkjk ds vUrxZr vk; ds larqyu dk fu/kkZjd fuEufyf[kr esa 

dkSu gS\ 

A- lkewfgd ekax    B- lkewfgd iwfÙkZ 

C.  A vkSj B nksuksa    D. buesa ls dksbZ ugha 

Which one of the following is the determining factor of equilibrium 

income in Keynesian Viewpoint? 

B. Aggregate Demand   B. Aggregate Supply 

C. Both A and B    D. None of these 

49- xq.kd dks O;Dr fd;k tk ldrk gS& 

A. K =  
∆௦

∆ூ
     B- K = 

∆௒

∆ூ
 

C- K = I - S     D- buesa ls dksbZ ugha 

Multiplier can be expressed as- 

A. K =  
∆௦

∆ூ
     B- K =  

∆௒

∆ூ
 

C- K = I - S     D. None of these 

50- voLQhfrd vUrjky eki gS& 

A. U;wu ekax dh    B- vkf/kD; ekax dh 

C- iw.kZ jkstxkj dh    D- buesa ls dksbZ ugha 

Deflationary gap shows the measurement of- 
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A. Deficient Demand   B- Surplus Demand 

C- Full Employment    D- None of these 

51- O;kikj pØ ds mRiUu gksus ds fUkEufyf[kr esa dkSu ls dkj.k gSa\ 

A. voLQhfrd n’kk,¡    B- LQhfrd n’kk,¡ 

C- A vkSj B nksuksa    D- buesa ls dksbZ ugha 

Which of the following causes the appearance of a Trade cycle? 

A. Deflationary Conditions  B- Inflationary Conditions  

C- Both A and B    D- None of these 

52- fczfV’k vFkZ’kkL=h ts ,e dhUl dh iqLrd ^n tujy F;ksjh^ fdl o"kZ esa 

izdkf’kr gqbZ\ 

A. 1926      B- 1936 

C- 1946      D- 1956 

British Economist J M Keynes’ famous book, “The General 

Theory” was published in which year? 

A. 1926      B- 1936 

C- 1946      D- 1956 

53- egkeanh fdl o"kZ vkbZ Fkh\ 
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A. 1949      B- 1939 

C- 1930      D- 1919 

What was the year of great Depression ? 

A. 1949      B- 1939 

C- 1930      D- 1919  

54- dhUl ds xq.kd dks dkSu ls rRo izHkkfor djrs gSa\ 

A. lhekUr cpr izo`fr    B- lhekUr miHkksx izo`fr 

C- A vkSj B nksuksa    D- buesa ls dksbZ ugha 

Which of the following is determining factor of Keynesian 

multiplier? 

A. Marginal Propensity to save  

B- Marginal Propensity to consume 

C- Both A and B     D- None of these 

55- fofue; nj ds fuEufyf[kr esa dkSu ls :Ik gSa\ 

A. fLFkj fofue; nj    B- ykspnkj fofue; nj 

C- A vkSj B nksuksa    D- buesa ls dksbZ ugha 

Which one of the following is a kind of Exchange Rate? 

A. Fixed Exchange Rate  B- Flexible Exchange Rate 
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C- Both A and B    D- None of these 

56- ctV ds la?kVd fuEufyf[kr esa dkSu gS\ 

A. ctV izkfIr;k¡    B- ctV O;; 

C- A vkSj B nksuksa    D- buesa ls dksbZ ugha 

Which of the following is a component of Budget? 

A. Budget Receipts   B- Budget Expenditure 

C- Both A and B     D- None of these 

57- fuEufyf[kr esa  ls dkSu lk ljdkj dk iw¡thxr O;; gS\ 

A. C;kt dk Hkqxrku    B- edku dk Ø; 

C- e’khujh O;;    D- buesa ls lHkh 

Which of the following is Capital expenditure of the government ? 

A. Interest Payment   B- Purchase of House 

C- Expenses on Machinery  D- All of these 

58- izkFkfed ?kkVs dk lgh eki D;k gS\ 

A. jktdks"kh; ?kkVk&jktLo ?kkVk   

B- jktLo ?kkVk&C;kt dk Hkqxrku 

C. jktdks"kh; ?kkVk &C;kt dk Hkqxrku    
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D- iw¡thxr O;; & jktLo O;; 

Which is the correct measure of Primary Deficit? 

A Fiscal Deficit-Revenue Deficit   

B- Revenue Deficit-Interest Payment 

C. Fiscal Deficit-Interest Payment 

D. Capital Expenditure-Revenue Expenditure 

59- O;kikj larqyu esa dkSu lh ensa lfEefyr gSa \ 

A. vn`’; ensa     B- iwath vUrj.k 

C- n`’; ensa     D- buesa ls lHkh 

Which items are included in Balance of Trade? 

A. Invisible Items    B- Capital Transfer 

C- Visible Items    D- All of these 

60- fuEu esa ls dkSu pkyw [kkrs dk la?kVd gS\ 

A. ,d i{kh; varj.k    B- ljdkjh lkSns 

C- izr;{k fuos’k    D- buesa ls dksbZ ugha 

Which of the following is component of Capital Account ? 

A. Unilateral Transfer   B- Official Transactions 
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C- Direct Investment   D- None of these 

61- fdlds vuqlkj vFkZ’kkL= ^ekuo dY;k.k dk foKku* gS\ 

A. ek’kZy     B- lsE;qylu 

C- ts- ,l fey    D- ,Me fLeFk 

According to whom, ‘Economics is a science of human welfare’? 

A. Marshall     B- Samuelson 

C- J S Mill     D- Adam Smith 

62- lHkh fØ;k,¡ tks vk; l`ftr djrh gSa & 

A. xSj vkfFkZd fØ;k,¡ dgykrh gSaA  B- vkfFkZd fØ;k,¡ dgykrh gSA 

C- fofue; fØ;k,¡ dgykrh gSaA  D- buesa ls dksbZ ugha 

All activities which generate income are known as - 

A. Non-Economic Activities  B- Economic Activities 

C- Exchange Activities   D- None of these 

63- fuEu esa ls fdl vk/kkj LrEHk ij vkfFkZd leL;kvksa dk <k¡pk [kM+k gS\ 

A. vlhfer vko’;drk,¡   B- lhfer lk/ku 

C- A vkSj B nksuksa    D- buesa ls dksbZ ugha 
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The  structure of economic problems rest on which of the following 

piilars ? 

A. Unlimited wants   B- Limited Resources 

C- A and B both    D- None of these 

64- fuEu esa ls dkSu lk dFku lgh ugha gS\ 

A. vkfFkZd leL;k pquko dh leL;k gSA 

B- dher la;a= fefJr vFkZO;oLFkk dh fo’ks"krk gSA 

C- lektoknh vFkZO;oLFkk esa izfr;ksfxrk dh vuqifLFkfr gksrh gSA 

D- lk/ku dh volj ykxr loZJs"B oSdfYid ewY; gSA 

Which of the following statement is incorrect? 

A. Economic Problem is the problem of choice. 

B- Price Mechanism is feature of Mixed Economy. 

C- Absence of competition in Socialist economy 

D- Opportunity cost of a factor is the best alternative price. 

65- fuEu esa ls dkSu lk dFku lgh gS\ 

A. mi;ksfxrk dk vFkZ vko’;drk dh larqf"V 'kfDr gSA 

B- mi;ksfxrk bPNk dh rhozrk dk Qyu gSA 
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C- oLrq ds miHkksx dh bPNk mi;ksfxrk dks tUe nsrh gSA 

D- buesa ls lHkh 

Which of the following statement is true? 

A. Utility means want satisfying capacity. 

B- Utility is a function of intensity of desire. 

C- Desire of consumption gives birth to utility. 

D- All of these 

66- tc dqy mi;ksfxrk vf/kdre gksrh gS] rc lhekar mi;ksfxrk & 

A. /kukRed gksrh gSA    B- _.kkRed gksrh gSA 

C- 'kwU; gksrh gSA    D- buesa ls dksbZ ugha 

When Total Utility becomes maximum Marginal utility is - 

A. Positive     B- Negative 

C- Zero     D- None of these 

67- tc X oLrq dh dher dk ifjoÙkZu Y oLrq dh ekax dks izHkkfor djrk gS] rc 

;g ekax dh yksp dgykrh gS & 

A. dher ekax dh yksp   B- vk; ekax dh yksp 

C- frjNh ekax dh yksp   D- buesa ls lHkh 
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When change in the price of good X affects the demand of good Y, 

the demand is called - 

A. Price elasticity of Demand   

B- Income elasticity of Demand 

C- Cross elasticity of Demand  

D- All of these 

68- lkekU; oLrqvksa ds fy, vk; izHkko & 

A. 'kwU; gksrh gSA    B- /kukRed gksrh gSA 

C- _.kkRed gksrh gSA    D- buesa ls dksbZ ugha 

Income Effect for normal goods is - 

A. Zero     B- Positive 

C- Negative     D- None of these 

69- mnklhurk oØ & 

A. ewy fcUnq dh vksj mUurksnj gksrh gSA  

B- ewy fcUnq dh vksj vourksnj gksrh gSA 

C- A vkSj B nksuksaa    D- buesa ls dksbZ ugha 

Indifference curve is - 
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A. Convex to the origin   B- Concave to the origin 

C- A and B both    D- None of these 

70- fuEu esa ls fdl ekax cØ dks ^,afty oØ* Hkh dgk tkrk gSA 

A. dher ekax oØ    B- vkM+h ekax oØ 

C- vk; ekax oØ    D- buesa ls dksbZ ugha 

Which demand curve is also known as ‘Engel’s Curve’? 

A. Price Demand curve   B- Cross Demand curve 

C- Income Demand curve  D- None of these 

71- lhekar mRikn ¾ 

A. TPn – TP(n-1)    B- 
∆்௉

∆௅
 

C- 
்௉

௅
     D- A vkSj B nksuksa  

Marginal Product =  

A. TPn – TP(n-1)    B- 
∆்௉

∆௅
 

C- 
்௉

௅
      D- A and B both 

72- ekSfnzd ykxr ¾ 

A. Li"V ykxr      
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B- vLi"V ykxr 

C- Li"V yxkr $ vLi"V ykxr   

D- Li"V ykxr $ vLi"V ykxr $ lkekU; ykHk 

Money cost = 

A. Explicit cost 

B- Implicit cost 

C- Explicit cost + Implicit cost 

D- Explicit cost + Implicit cost + Normal Profit 

73- fdl cktkj esa ekax dh yksp bdkbZ ls vf/kd gksrh gS & 

A. iw.kZ izfr;ksfxrk    B- ,dkf/kdkj 

C- ,dkf/kdkjh izfr;ksfxrk   D- buesa ls dksbZ ugha 

In which market Elasticity of Demand is greater than unity? 

A. Perfect Competition   B- Monopoly 

C- Monopolistic Competition  D- None of these 

74- ^iwfrZ ds foLrkj* dk vFkZ gS & 

A. mlh dher ij vf/kd iwfrZ vFkok de dher ij mruh gh iwfrZ 

B- oLrq dh Å¡ph dher ij mldh vf/kd iwfrZ 
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C- A vkSj B nksuksa     

D- buesa ls dksbZ ugha 

‘Extension in Supply’ means - 

A. More supply at same price  or same supply at lower price  

B- Higher quantity supplied at higher price of commodity. 

C- A and B both 

D- None of these 

75- iwfrZ oØ ij lapyu & 

A. dher ifjorZu ds dkj.k gksrk gSA 

B- dher ds vfrfjDr vU; rÙoksa esa ifjorZu ds dkj.k gksrk gSA 

C- iwfrZ esa òf) ds dkj.k 

D- buesa ls lHkh 

Movement along a supply curve happens - 

A. due to change in price   

B- due to change in factors other than price 

C- due to increase in supply 

D- All of these 
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76- vkfFkZd vlkeurk ds dkj.k oxZ&la?k"kZ fdl vFkZO;oLFkk dh fo’ks"krk gS\ 

A. iwathoknh vFkZO;oLFkk   B- lektoknh vFkZO;oLFkk 

C- fefJr vFkZO;oLFkk    D- buesa ls lHkh 

Class struggle due to economic disparities is the feature of which 

economy? 

A. Capitalist Economy   B- Socialist Economy 

C- Mixed Economy   D- All of these 

77- mRiknu laHkkouk oØ dc ,d ljy js[kk dh vkdf̀r ysrk gS\ 

A. lhekUr volj ykxr tc c<+rk gSA 

B- lhekUr volj ykxr tc ?kVrk gSA 

C- lhekUr volj ykxr tc fLFkj jgrk gSA 

D- buesa ls dksbZ ugha 

When does Production Possibility Curve take a shape of a straight 

line? 

A. When Marginal Opportunity Cost increases. 

B- When Marginal Opportunity Cost decreases. 

C- When Marginal Opportunity Cost is constant. 
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D- None of these 

78- ^xkslsu dk izFke fu;e* fuEu esa ls dkSu lk gS\ 

A. ekax dk fu;e    B- lhekar mi;ksfxrk gzkl fu;e 

C- miHkksDrk dh cpr    D- le lhekar mi;ksfxrk fu;e 

Which of the following is the ‘First law of Gossen’? 

A. Law of Demand    

B- Law of Diminishing Marginal utility 

C- Consumer’s Surplus  

D- Law of Equi Marginal Utility 

79- Ekkax dh yksp bdkbZ ls vf/kd gksrh gS tc & 

A. dher ds c<+us ls gS dqy O;; Hkh c<+ trkh gSA 

B- dher ds c<+us ls dqy O;; de gks tkrh gSA 

C- dher ds c<+us ls dqy O;; esa ifjoÙkZu ugha gksrk gSA 

D- buesa ls dksbZ ugha 

Elasticity of Demand is greater than unity when - 

A. With increase in price total expenditure also increases. 

B- With increase in price total expenditure decreases. 
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C- With increase in price total expenditure does not change. 

D- None of these 

80- fdl cktkj esa oLrq dh dher mRikn ds lHkh Lrj ij lnSo fLFkj gksrh gS\ 

A. viw.kZ izfr;ksfxrk    B- iw.kZ izfr;ksfxrk 

C- ,dkf/kdkjh izfr;ksfxrk   D- ,dkf/kdkj 

Price remains constant at all levels of output in which market? 

A. Imperfect Competition  B- Perfect Competition 

C- Monopolistic Competition  D- Monopoly 

81- nh?kZdky esa ekax ,oa iwfrZ 'kfDr;ksa }kjk fu/kkZfjr dher& 

A. cktkj dher gSA    B- lkekU; dher gSA 

C- larqyu dher gSA    D- buesa ls dksbZ ugha 

Price determined by demand and supply forces in the long period 

is known as - 

A. Market Price    B- Normal Price 

C- Equilibrium Price   D- None of these 

82- ,d QeZ dk ekax oØ iw.kZ ykspnkj gksrk gS & 

A. iw.kZ izfr;ksfxrk esa    B- ,dkf/kdkj esa 
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C- ,dkf/kdkjh izfr;ksfxrk esa   D- vYikf/kdkj esa 

Demand curve of a firm is perfectly elastic under 

A. Perfect Competition   B- Monopoly 

C- Monopolistic Competition  D- Oligopoly 

83- ^^O;kid vFkZ’kkL= dk eq[; ;U= jk"Vªh; vk; fo’ys"k.k gSA** fdlus dgk\ 

A. izks 'kqYt     B- ,e ,p LisUlj 

C- izks cksfYMax     D- buesa ls dksbZ ugha 

“The main tool of Macro Economics is National Income Analysis” 

who said? 

A. Prof. Schultz    B- M. H. Spencer 

C- Prof. Boulding    D- None of these 

84- f} {ks=h; vFkZO;oLFkk esa vUr%{ksi.k dk eq[; L=ksr D;k gS\ 

A. fuos’k     B- ljdkjh O;; 

C- dj      D- buesa ls dksbZ ugha 

In two sector economy which is main source of Injection? 

A. Investment     B- Government Expenditure 

C- Taxation     D- None of these 
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85- pkyw dherksa ij ldy jk"Vªh; vk; dks dgrs gSa & 

A. okLrfod GNP    B- ekSfnzd GNP 

C- A vkSj B nksuksa    D- GNP voLQhrd 

GNP calculated at current prices is known as - 

A. Real GNP    B- Money GNP 

C- A and B both    D- GNP Deflator 

86- e/;orhZ miHkksx dk laca/k gS & 

A. lk/ku vkxr ls    B- xSj lk/ku vkxr ls 

C- A vkSj B nksuksa      D- buesa ls dksbZ ugha 

Intermediate Consumption is related to  

A. Factor Input    B- Non-factor Input 

C- A and B both    D- None of these 

87- ^^eqnzk og gS tks eqnzk dk dk;Z djsA** ;g ifjHkk"kk lfEefyr gS & 

A. dk;kZRed ifjHkk"kk esa   B- oS/kkfud ifjHkk"kk esa 

C- lkekU; Lohd`fr dh ifjHkk"kk esa  D- buesa ls lHkh 

“Money is what money does”. This definition is related to - 

A. Functional Definition   B- Legal Definition 
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C- Common Acceptability Definition D- All of these 

88- eqnzk ds ewY; es vfLFkjrk eqnzk dk & 

A. uSfrd nks"k gSA    B- vkfFkZd nks"k gSA 

C- lkekftd nks"k gSA    D- buesa ls lHkh 

Instability in value of money is - 

A. Moral Evil     B- Economic Evil 

C- Social Evil    D- All of these 

89- cpr tek dh fo’ks"krk,¡ gS & 

A. bUgsa psd }kjk ugha fudyok;k tk ldrk gSA 

B- ;s fudV eqnzk dk vax gksrh gSaA 

C- bu tekvksa ij C;kt nj de gksrh gSA 

D- buesa lHkhA 

The characteristic of Saving Deposits is - 

A. They are not chequeable   

B- This is the part of Near Money 

C- These deposits have low rate of interest   

D- All of these 
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90- dsUnzh; cSad ds lek’kks/ku x`g ds dk;Z dk fuEu esa ls D;k ykHk gS\ 

A. ikjLifjd ysu&nsu dk fuiVkjk de eqnzk esa gh gks tkrk gSA 

B- cSadksa ds ikjLifjd laca/k c<+rs tkrs gSaA 

C- blls dsUnzh; cSad dks O;kikfjd cSadksa dh rjyrk fLFkfr dk irk pyrk gSA 

D- buesa ls lHkh 

Which is the advantage of functioning of Clearing House of Central 

Bank? 

A. It economises the use of cash by banks, while settling their 

claims and counter claims.    

B- It improves the mutual relations amongs banks. 

C- It keeps Central bank fully informed about liquidity position of 

each bank.   

D- All of these 

91- lk[k ladqpu ds fy, & 

A. lkafof/kd rjyrk vuqikr dks ?kVk fn;k tkrk gSA 

B- lkafof/kd rjyrk vuqikr dks c<+k fn;k tkrk gSA 

C- lkafof/kd rjyrk vuqikr esa dksbZ ifjorZu ugha fd;k tkrk gSA 

D- buesa ls dksbZ ugha 
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For Credit Contraction - 

A. Statutory Liquidity Ratio is increased 

B- Statutory Liquidity Ratio is decreased  

C- Statutory Liquidity Ratio is not changed 

D- None of these 

92- cSadksa esa xzkgd lsok lq/kkjus gsrq lq>ko nsus ds fy, o"kZ 1990 esa fdl lfefr dk 

xBu gqvk\ 

A. ujflEge lfefr    B- xksbiksfj;k lfefr 

C- oekZ lfefr     D- buesa ls dksbZ ugha 

In 1990 which committee was constituted for making 

recommendations for improvements in customer service of Banks. 

A. Narsimham Committee  B- Goiporia committee 

C- Verma Committee   D- None of these 

93- eqnzk xq.kd ¾ 

A. 
ெ

ு
      B- 

஼௎

஽஽
 

C. H = C + R     D- buesa ls lHkh 

Money Multiplier = 
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A. 
ெ

ு
      B- 

஼௎

஽஽
 

C. H = C + R     D- All of these 

94- cpr dc _.kkRed gksrh gS\ 

A. C < Y     B- C > Y 

C- C = Y     D- APC + APS = 1 

When does saving become negative ? 

A. C < Y     B- C > Y 

C- C = Y     D- APC + APS = 1 

95- fuos’k tks vk; Lrj ls Lora= gksrk gS & 

A. izsfjr fuos’k dgyrk gSA   B- Lok;r fuos’k dgykrk gSA 

C- fu;ksftr fuos’k dgykrk gSA  D- okLrfod fuos’k dgykrk gSA 

The Investment which is independent of income level is known as- 

A. Induced Investment   B- Autonomous Investment 

C- Exante Investment   D- Expost Investment 

96- lk/ku lsokvksa ds jkstxkj esa òf) mfpr gS tc] 

A. lkewfgd ekax ¾ lkewfgd iwfrZ  B- lkewfgd ekax > lkewfgd iwfrZ 
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C- lkewfgd ekax < lkewfgd iwfrZ  D- buesa ls dksbZ ugha 

Increase in employment of factors is suitable when - 

A. Aggregate Demand = Aggregate supply 

B- Aggregate Demand > Aggregate supply 

C- Aggregate Demand < Aggregate supply 

D- All of these 

97- xq.kd Kkr dhft, ;fn MPS dk ewY; 0-75 gSA 

A. 2      B- 8 

C- 1-33      D- 1-67 

Find the value of Multiplier, if Marginal Propensity to save (MPS) is 

0.75. 

A. 2      B- 8 

C- 1-33      D- 1-67 

98- ^vfrjsd ekax* mRiUu gksus dk fuEu esa ls dkSu dkj.k ugh gS\ 

A. fofu;ksx ekax esa òf)    

B- lk[k foLrkj ls ekax esa o`f) 

C- ghukFkZ izca/ku ds QyLo:Ik eqnzk iwfrZ esa òf) 
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D- lkoZtfud O;; esa deh 

Which is not the reason of rising Excess Demand ? 

A. Increase in Investment Demand. 

B- Increase in demand due to credit extension. 

C- Addition in money supply due to deficit financing. 

D- Reduction in Public Expenditure 

99- fuEu esa ls dkSu ^jktdks"kh; mik;* ugha gS \ 

A. dj      B- lkoZtfud O;; 

C- lkoZtfud _.k    D- cSad nj 

Which of the following is not a fiscal measure? 

A. Taxation     B- Public Expenditure 

C- Public Debt    D- Bank Rate 

100- jktdks"kh; vuq’kklu dk lwpd gS & 

A. 'kwU; izkFkfed ?kkVk   B- jktdks"kh; ?kkVk 

C- jktLo ?kkVk    D- ldy izkFkfed ?kkVk 

Indicator of fiscal discipline is - 

A. Zero Primary Deficit   B- Fiscal Deficit 
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C- Revenue Deficit   D- Gross Primary Deficit 

Section-B  

Short Answer Type Questions

iz’u la[;k 1 ls 30 rd y?kq mÙkjh; gSaA buesa ls fdUgha 15 iz’uksa ds mÙkj nsaA izR;sd iz’u 

ds fy, 2 vad fu/kkZfjr gSA 'kCn lhek 40 ls 50 'kCn gSA    (15x2=30) 

Question nos. 1 to 30 are Short answer type. Answer any 15 questions. 

Each question carries 2 marks. Word limit is 40-50 words.  

 (15x2=30) 

1- ^mRiknu laHkkouk oØ^ dh vkd`fr dSlh gksrh gS\     2 

What is the shape of ‘Production Possibility curve’? 

2- miHkksDrk larqyu dk D;k vFkZ gS\       2 

What do you mean by Consumer’s Equilibrium? 

3- vkfFkZd fØ;k D;k gS\         2 

What is meant by Economic Activity ? 

4- mRiknu Qyu dh ifjHkk"kk nhft,A       2 

Define Production Function. 

5- ekax oØ uhps D;ksa fxjrk gSa\ fdUgha nks dkj.kksa dks fy[ksaA    2 

Why does demand curve slope downward ? Write any two causes. 

6- vYidky vkSj nh?kZdky dh ladYiukvksa es vUrj dhft,A    2 

Distinguish between the concepts of short-run and the Long-run 

7- volj ykxr ls D;k vfHkizk; gS\       2 
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What is meant by Opportunity cost? 

8- lhekar ykxr vkSj vkSlr ykxr esa D;k lEcU/k gS\     2 

What is the relationship between Marginal cost and Average cost? 

9- iw.kZ izfr;ksfxrk esa vkSlr vkxe vkSj lhekUr vkxe oØksa dh vkd`fr dSlh gksrh 

gS\           2 

What type of shape does Average Revenue and Marginal 

Revenue curve adopt in perfect competition? 

10- Ckktkj ds eq[; fo’ks"krkvksa dks crkb,A      2 

Mention the important features of market. 

11- ,dkf/kdkj vkSj ,dkf/kdkjkRed izfr;ksfxrk esa fdUgha nks vUrjksa dks crk,¡A 2 

Mention any two differences between Monopoly and Monopolistic 

Competition. 

12- Lkarqyu dher D;k gS\ 

What is Equilibrium price? 

13- Lkhekar mi;ksfxrk gzkl fu;e D;k gS\      2 

What is Law of Diminishing Marginal utility? 

14- C;kt nj dk fu/kkZj.k dSls gksrk gS\       2 

How is interest rate determined? 

15- O;f"V vFkZ’kkL= vkSj lef"V vFkZ’kkL= esa fdUgha nks vUrj dks mnkgj.k lfgr 

fy[ksaaA           2 



47 
 

Write any two differences between Micro Economics and Macro 

Economics with example. 

16- jk"Vªh; vk; ds pØh; izokg ls D;k vfHkizk; gS\     2 

What is meant by Circular flow of National Income? 

17- Lkk/ku ykxr ij ’kq) ?kjsyq mRikn ls D;k vfHkizk; gS\    2 

What is meant by Net Domestic Product at factor cost? 

18- jk"Vªh; vk; rFkk ?kjsyw vk; esa D;k varj gS\     2 

Distinguish between National Income and Domestic Income 

19- izkFkfed vkSj f}rh;d {ks= esa vUrj crkb,A     2 

Distinguish between Primary Sector and Secondary Sector. 

20- udn dks"k vuqikr vkSj oS/kkfud rjyrk vuqikr esa D;k vUrj gS\  2 

What is the difference between Cash Reserve Ratio (CRR) and 

‘Statutory Liquidity Ratio’(S L R) ? 

21- miHkksx izo`fr dk D;k vFkZ gS\       2 

What is the meaning of Propensity to Consume? 

22- fuos’k xq.kd dks ifjHkkf"kr dhft,A       2 

Define Investment Multiplier. 

23- U;wu ekax ds D;k dkj.k gSa\         2 

What are the reasons of Deficient Demand? 

24- xSj fodkl O;; D;k gS\        2 

What is Non-Development Expenditure? 
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25- izkFkfed ?kkVs ls D;k vfHkizk; gS\       2 

What is meant by Primary Deficit? 

26- Hkqxrku larqyu dh ifjHkk"kk nsaA       2 

Define Balance of Payments. 

27- iwath [kkrs dks ifjHkkf"kr djsaA        2 

Define Capital Account. 

28- O;kikj pØkssa dks ifjHkkf"kr djsaaA       2 

Define Trade Cycles. 

29- Ekkax ds fu;e dks ifjHkkf"kr djsaA       2 

Define Law of demand. 

30- mnklhurk oØ dks le>kb;sA        2 

Explain Indifference Curve. 

Long Answer Type Questions

iz’u la[;k 31 ls 38 rd nh?kZ mÙkjh; iz’u gSaA bl dksfV ds izR;sd iz’u ds fy, 5 vad 

fu/kkZfjr gSaA fdUgha 4 iz’uksa ds mÙkj nsaA 'kCn lhek 100&120 'kCn gSA  (4x5=20) 

Question no. 31 to 38 are Long answer type questions. Each question 

carries 5 marks. Answer any 4 questions. Word limit is 100-120 words. 

           (4x5=20) 

31- ekax dh dher yksp dks izHkkfor djus okys rRoksa dh O;k[;k dhft,A 

Explain the factors determining price elasticity of demand. 
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32- ,d QeZ ds ^lkE;^ ls vki D;k le>rs gSa\ QeZ ds larqyu ds ’krksZ dks 

le>kb,A 

What do you mean by Firm’s Equilibrium? Explain the conditions 

for firm’s equilibrium. 

33- iw.kZ izfr;ksfxrk esa ewY; dSls fu/kkZfjr gksrk gS\ 

How is price determined under Perfect Competition? 

34- mnklhurk oØ fo’kys"k.k dh lgk;rk ls miHkksDrk ds larqyu dks le>kb,A 

Explain Consumer’s equilibrium with  the help of Indifference 

Curve Analysis. 

35- jk"Vªh; vk; dh x.kuk djus dh vk; fof/k dk o.kZu dhft,A 

Explain the Income method to estimate National Income. 

36- ,d dsUnzh; cSad ds eq[; dk;ksZ dk o.kZu dhft,A 

Explain important functions of Central Bank. 

37- izR;{k dj ,ao vizR;{k dj esa vUrj crkb,A 

Distinguish between Direct Tax and Indirect Tax. 

38- O;kikfjd cSadks ds fofHkUu dk;ksZa dk o.kZu dhft,A 

Explain important functions of Commercial Banks. 


